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1050 DT events with purity of (94.7 + 0.7)% are used for amplitude analysis.
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137, 84 and 22 events are selected with purity of (96.9 + 1.5)%, (96.7 + 2.0)% and
(94.9 + 4.7)% for+/s = 4.178,4.189 ~ 4.219 and 4.226 GeV data samples
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344, 222 and 64 events are selected with purity of (85.1 + 1.9)%, (90.0 + 2.0)% and (86.1
+ 4.3)% for /s = 4.178,4.189 ~ 4.219 and 4.226 GeV data samples
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322 and 250 events are selected with purity of (78.9 + 2.3)% and (75.6 + 2.9)% and (94.9
+ 4.7)% for /s = 4.178 and, 4.189 ~ 4.226 GeV data samples
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722, 444 and 140 events are selected with purity of (95.7 + 0.7)%, (95.2 + 1.0)% and (92.6
+ 2.2)% for+/s = 4.178,4.189 ~ 4.219 and 4.226 GeV data samples
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